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Allele





An allele is any one of a number of alternative forms of the same � HYPERLINK "http://en.wikipedia.org/wiki/Gene" \o "Gene" �gene� occupying a given � HYPERLINK "http://en.wikipedia.org/wiki/Locus" \o "Locus" �locus� (position) on a � HYPERLINK "http://en.wikipedia.org/wiki/Chromosome" \o "Chromosome" �chromosome�. An example is the gene for blossom color in many species of � HYPERLINK "http://en.wikipedia.org/wiki/Flower" \o "Flower" �flower� - a single gene controls the color of the petals, but there may be several different versions of the gene. One version might result in red petals, while another might result in white petals.


Some organisms are � HYPERLINK "http://en.wikipedia.org/wiki/Diploid" \o "Diploid" �diploid� - that is, they have paired � HYPERLINK "http://en.wikipedia.org/wiki/Homologous" \o "Homologous" �homologous� chromosomes in their � HYPERLINK "http://en.wikipedia.org/wiki/Somatic_cell" \o "Somatic cell" �somatic cells�, and thus contain two copies of each gene. An organism in which both copies of the gene are identical - that is, have the same allele - is said to be � HYPERLINK "http://en.wikipedia.org/wiki/Homozygote" \o "Homozygote" �homozygous� for that gene. An organism which has two different alleles of the gene is said to be � HYPERLINK "http://en.wikipedia.org/wiki/Heterozygote" \o "Heterozygote" �heterozygous�. Often one allele is "dominant" and the other is "recessive" - the "dominant" allele will determine what trait is expressed. For example, in the case of blossom color, if the "red" allele is dominant to the "white" allele, in a heterozygous flower (with one red and one white allele), the petals will be red. The recessive allele will only be expressed in a recessive homozygote.


However, there are exceptions to the way heterozygotes express themselves in the phenotype. One exception is � HYPERLINK "http://en.wikipedia.org/wiki/Incomplete_dominance" \o "Incomplete dominance" �incomplete dominance� (sometimes called � HYPERLINK "http://en.wikipedia.org/wiki/Blending_inheritance" \o "Blending inheritance" �blending inheritance�) when alleles blend their traits in the � HYPERLINK "http://en.wikipedia.org/wiki/Phenotype" \o "Phenotype" �phenotype�. An example of this would be seen if, when crossing snapdragons - flowers with codominant "red" and "white" alleles for petal color - the resulting offspring would have pink petals. Another exception is � HYPERLINK "http://en.wikipedia.org/wiki/Co-dominance" \o "Co-dominance" �co-dominance�, where both alleles are active and both traits are expressed at the same time; for example, both red and white petals in the same bloom or red and white flowers on the same plant. Codominance is also apparent in human � HYPERLINK "http://en.wikipedia.org/wiki/Blood_type" \o "Blood type" �blood types�. A person with one "A" blood type allele and one "B" blood type allele would result in a blood type of "AB".


A � HYPERLINK "http://en.wikipedia.org/wiki/Wild_type" \o "Wild type" �wild type� allele is an allele which is considered to be "normal" for the organism in question, as opposed to a � HYPERLINK "http://en.wikipedia.org/wiki/Mutant" \o "Mutant" �mutant� allele which is usually a relatively new modification.
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Skye and Poppy both carry different alleles for the same trait, tail color.  Skye carries a dominate blue trait, while Poppy carries a recessive orange trait.








